
Review Calc 2
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( Limits Derivatives Integrals )
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Derivatives
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Derivative Cans chain rule

f-±gI = f-
'

±g
'

lf.gl
'

lfgl
'
= f-

'

g -1 f-g
'

dd-xflgixh-dd-xfcgcxy.LT, gin
¥gI=t'g-gt⇒

Derivatives of the following functions
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Integration
f dx
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limit of summation over small intervals .
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Fundamental theorem of calculus . (FTC )
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? This allows us to compute integrals .
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How to me Part 1 ?

Example day fsohx
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treat"

:[
eating area

÷ "¥÷.



Review Calc 1 ( substitution rule)

/ flux) ) u'in dx = / f-cut du .

Recall chain rule
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Let f- be the antiderivative of F.
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